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p'\scuss\oh ID  Problem |\

(a) I8 A=f1,2,5, 4% what is P(A)7
The set of all subsets of $1,2,3,u}
which 8 tedious 4o write out,

(L) I B is o set Adescribe P (®) using
set compro\r\ens\'bh.

felwe B3

(¢) What is RN P(A) ?
P, as twe clementys of IR are numlers
and Yhe elements of P (A) ave sets

(L) What is RnZ7?
2, snce e iwl-cﬁgvs ave a sule se4

oF Png reals.,

(¢) What is ia NvQ® ?
Q, since the naturaly ave a subdet

of $we vationals.
(.[:3 What Kind of numbers ave ie RN

Tvvarional numbetrs.

(4) I& ST, what is SN\,
¢’ as T confniny al\l ot S,
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Discussion

1D Problem 27

Ley X, Y bve sets |

o Function .,

and {-:X—-’»‘I be

. I§ A S X, define +he image ok A

under ¥+ as the cet
f(AY :=

| xeAd,

I B¢ \l, dekine the pre -image of

B under §
'p-‘CBB:-.::

&> the sed
fx|xeXAR(x>€BY.

(6) I& Bc Y, prove +that +(£7(®)) 'VB.

Io\(_a:

Prove -\'\’\a'\' V‘_:B:B=—§\
X \%\3 b € B
¥be e
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Ldear Pyove Yb € P(G"(BSBI “e B

Led b & SCE'(B)Y) Le avbitvary.

Twen TP Qa4 € £(B)  suew twat

$(a)=do, Simce af £7 (B, £(

€R. bLb: $(e) ¢ B.
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(v]led) Lex A S X, Prove Yhat A S #"(-C(M\
provide an example wheve A -Q-‘(-(-‘(A))

prvt  that &€ £ (£(A))

ond

l‘c«'. v& €A ]

of two yn{m “qc, ) (£(AT)
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Discussion 1 D Provlerm 3

Consider +he Pfuncrion

[ x W X2
\

T oL -
L = 4 X ¥
' 7%x+3 otherwise.

(o) T& the domain | codomain of § are N |
is ¥
= I\\Sec.-\-'wo?.
Yes, as on N, £0D =%, s if
f(a) s $(wd, tmen azy,

- Surjeckive ?
Ves. T¥we N i dvbil'urd ’ thsen
-F(n} N, % + can reach any

element 1w

- Bijective ? injective

Yes, as it 15 looth bijective

nd SV Yj ective .
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(v) I¢ the domain [/ codomain of & ave Z |
's ¥
- injective ?

No, as $(0 = D=1,

- Surjective ?
No, as dhere i we Xe & such

et £(= = -2.

- Bijeckijve?
No, as it is meither injective
nor surjective,
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I# Ywe domain|codomain of &+ ave R, is
£
- injective ?

No, a5 aﬁdﬁn OO & £ o\,

- surjective ?
Ves. Let r6 R ‘e ovboitrory . Then
o f»\,#(v}:r’
o ¢ 0{:?(\,-‘(‘:)'-'?,”-4
"\"f<0,4('.'.—','_}-)ef,
50 Yr we can $ind x such that f\ev.

- ‘ovyecti ve 7
No as & > wnot injective

¥

Scanned with CamScanner




